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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER 3 « EXAMINATION - SUMMER 2017

Subject Code: 3335002 Date:27-04-2017
Subject Name: BUILDING CONSTYCTION
Time:2.30 to 5.00PM Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
5. Draw sketches to illustrate your answer.
Q.1 (@) Define: 07
(1) Frog (2) Ridge (3) Queen closer  (4) Baluster
(5) Half bat  (6) Valley (7) Stretcher
Y1 A el ;UM 09
(1) 5oL () 3o (3) scllot AR (¥) HURRIR
(W) sl A2 (s) acll (9) WA
(b) Explain in detail the various causes of failure of foundation 07
o Udlell Pgadiett QYU s100 UlQRAR sl 09
Q.2 (@) Write a short note : Bearing Capacity of Soil. 07
Y2 A gsell cull : Hdle{l Adlal 3UREL. 09
(b)  Write a short note : Combined Footing. 07
o gsolld cull : 5ouBs geloL 09
OR
(b) State types of pile foundation and explain any one. 07
o WHBA $1G32otall YSIA AWl val 518 Asal ceidl. 09
Q.3 (@) Differentiate : Brick masonary and Stone masonary. 07
Y3 A dsladd AU : 820] URLAR ol ULURSY AURLAR. 09
(b) State types of brick bond and explain any one. 07
ol 2ol ollSall UsR Al Aal 518 Asal celal. 09
OR
Q.3 (@) Differentiate : English bond and Flemish bond. 07
Usl. 3 A dslad a0 : sacllal olls ua sAlal olls. 09
(b) Differentiate : Load bearing structure and Frame structure. 07
ol dslald AW : Als Aol WHRAR UA FH VAR, 09
Q4 (@ Explain Lintel in detail. 07
sy A dleda [Qatcdark aldl 09
(b) State types of Door and explain any one. 07
ol Rl USIRL Al el 518 Asal culal. 09
OR
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(b)

Explain Arch in detail.

R (Qotdetr aulal.
State types of Window and explain any one.
olllell USIRL AUl AA 518 Asal culal.

State types of Stair and explain any one.

il YslA AUl Aal 518 Wsal clal.
Give the advantages of Steel roof truss over Timber roof truss

AsSloll 3% 24 5cll WAl 3% 2ol SLRAELR VUL

OR
State types of Roof and explain any one.

3%l USRAL AWl Wal 518 Bsal culal.
Give the advantages and the causes of failure of R.C.C structure.

WUR.ALAUL alitusiHoll slael A Aol [Argoictiotl SIREN AL,
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